Displacement/Velocity/Acceleration answers
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The vertical o(-'s,v/memu-(- CAei\'gA-t') 070 a ball IS haodelled
6j h(t)= —t5+ 8t wheee T 7S the time in seconds ahe
Lhe boall Aos been fhrown.

a) Find the iaitral }le..\'j}'l{' c)?é\ +he Lall
When t=o , h(e)z -0* % x0’= O,
L,) Fmap the highest PD)'nf reachesd by +he ball
(WLUI the VC/ou‘fy - O) V&gCrY'V o h/(f)
O= K(e)=-31% 4[4t = -31(t-F ) [Wm e sec
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efthee -3t =0 or -L--"%:o }\(-J&).: —(%g'f 9(2*‘)

—+ = 0O ar 16 secands =75.8%5n, (zd',)
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C’> WLC"I Ufo€5 the baﬂ /Mm, on '['Ag graumd?
The ball lands whea h(t) =0
o < --[:g-ﬂ"t’?'
0 = ~+*(£-%) Answe : 4 =§ seconds
¢ither —t*-0 or t-¥#=°
+ =0 og¢ =¥ Se¢
d) Wt\a'f 15 ‘(‘LL aC(&{E/a'fTM g’]L\ +he Lol when the alU'Ccf
S of rest ? Cleu V'.:o)
O\LCdech‘[la/\ = h’/C‘f)
W)= -3t +lbt
W) = %€ 16
when = 1+ whea t=0
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